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2000 =100

2000 2001
2000

B

L

2000 L 2001 L 2002 L
| 2000 | 2001 [2001 -2000

1,000.0] 1,000.0 0.0
919.4] 919.4 0.0
117.4] 1216 4.2
19.8 18.1 -1.7
12.7 12.0 -0.7
30.3 29.1 -1.2
78.3 80.5 2.2
38.4]  38.2 -0.2
36.6 39.2 2.6
30.9 30.5 -0.4
36.8 35.6 -1.2
20.3 20.4 0.1
39.6 39.7 0.1
103.3]  102.6 -0.7
161.4] 150.5 -10.9
99.2]  104.9 5.7
11.3 11.5 0.2
83.1 85.0 1.9
25.5] 255 0.0
6.3 6.3 0.0
46.6]  46.6 0.0
2.2 2.2 0.0

2003




2002

2000 2000
2001
2000
2001

A B C D=A-B | E=A-C | F=D-E G H I=G-H
94.0 94.9 93.9 -0.9 0.1 -1.0 -1.4 -0.8 -0.6
93.6 94.7 93.5 -1.1 0.1 -1.2 -1.6 -0.9 -0.7
98.7 98.8 98.7 -0.1 0.0 -0.1 0.3 0.3 0.0
96.6 97.0 96.7 -0.4 -0.1 -0.3 -0.8 -0.6 -0.2
97.6 97.7 97.7 -0.1 -0.1 0.0 0.4 0.4 0.0
98.9 99.1 99.0 -0.2 -0.1 -0.1 1.6 1.8 -0.2
98.0 98.3 98.3 -0.3 -0.3 0.0 1.0 1.3 -0.3
95.1 95.5 95.1 -0.4 0.0 -0.4 -0.8 -0.6 -0.2

115.2 115.4 115.3 -0.2 -0.1 -0.1 4.3 4.3 0.0
96.4 96.7 96.5 -0.3 -0.1 -0.2 -0.8 -0.7 -0.1

103.2 103.3 103.1 -0.1 0.1 -0.2 6.0 5.9 0.1

101.3 101.6 101.4 -0.3 -0.1 -0.2 0.6 0.8 -0.2
98.2 98.4 98.2 -0.2 0.0 -0.2 0.1 0.2 -0.1
95.2 95.5 95.3 -0.3 -0.1 -0.2 -1.9 -1.6 -0.3
73.5 77.5 73.6 -4.0 -0.1 -3.9 -10.3 -7.3 -3.0
93.9 94.1 93.9 -0.2 0.0 -0.2 -2.0 -1.9 -0.1
96.2 96.6 96.2 -0.4 0.0 -0.4 -1.7 -1.4 -0.3
97.8 98.3 98.0 -0.5 -0.2 -0.3 -0.8 -0.5 -0.3
98.8 94.8 98.8 4.0 0.0 4.0 0.4 -2.0 2.4
94.5 94.6 94.5 -0.1 0.0 -0.1 -1.3 -1.3 0.0
97.8 97.8 97.8 0.0 0.0 0.0 1.3 1.2 0.1

134.8 135.2 134.8 -0.4 0.0 -0.4 29.5 29.4 0.1
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